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Subject Related: Management

The liberal critique examined the implications
of

(@) market expansion

(b) too much governance

(c) growth of political economy
(d) politics of marketization

Which department is responsible for setting
up the material price standard.

(a) Manufacturing department

(b) Transport department

(c) Purchase department

(d) Sale department

Fundamental legal obligations in
taking corporate business decisions
are formulated on the basis of

(a) Judicial Principles

(b) Moral Principles

(c) Ethical Principles

(d) Legislative Principles

The rate of return which is made up of risk-
free and business risk element is classified
as

(@) National rate of return

(b) Required rate of return

(c) Real rate of return

(d) Accrual accounting rate of return

Which one of the following is a non-cash
payment made by form to its shareholders
that dilutes the value of each share of stock
outstanding?

(a) Reverse stock split
(b) Regular dividend
(c) Stock dividend

(d) Liquid dividend
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10.

Criteria that measure how quickly a project
will return its original investment is

(@) Accountingrate of return
(b) Payback period

(c) Internalrate of return

(d) Costratio

In the case of financial enterprises, the cash
flow resulting from interest and dividend
received and interest paid should be classified
as cash flow from

(a) operating activities
(b) financing activities
() investing activities

(d) marketing activities

Which of the following is the condition for
equilibrium for Monopolist?

(@) MR = MC
(b) MC = AR
(c) MR = MC = Price
(d) AC = AR

"Third Party intervention” as "Conflict
Resolution” is

(a) often required
(b) seldom required

(c) required as a mandate, when conflict
remains unresolved

(d) not at all considered as an option

Indecision tables, there are:

(a) Tabulated Decisions

(b) Decisions

(c¢) Conditions stubs and action stubs

(d) Hierarchy level
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Which of the following is an important money
market instrument ?

(a) Debentures

(b) Commercial Paper
(c) Public Deposits
(d) None of the above

Which of the following is not the stage of
new product development ?

(a) Idea Generation

(b) Business Analysis

(c) Test Marketing

(d) Market Segmentation

Which of the following is not included in 7 P's
of services marketing?

(a) Physical evidence
(b) People
(c) Process

(d) Marketing plan

Morality of an employee in a business
organisation depends upon

(a) Individual disposition
(b) Understanding of business activities
(c) Understanding of individual in a group

(c) Family setup of individual employee

Balance of payment of a county has parts
(@) 2
(b) 3
(c) 4
(d) 5

In BOP account, all goods exported and
imported are recorded in

(a) Capital account
(b) Visible account
(c) Revenue account

(d) Merchandise account
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Whichis not a global entry strategy ?
(@) Exporting

(b) Joint venture

(c) Merger and Acquisition

(d) Blue ocean strategy

The aim of transportation approach for
locational analysis is to minimize/reduce

(a) Total cost

(b) Total shipping cost
(c) Total variable cost
(d) Total fixed cost

Ethical Management is
(@) A Compromise

(b) A Compulsion

(c) A Judgement

(d) (A) and (B)

Mr Akash purchases some goods/services to
use it in the manufacturing of products that

are supplied to others. Mr. Akash is involved

in

(@) Consumer buying behaviour
(b) Post-purchase dissonance
(c) Retail buyer behaviour

(d) Business buyer behaviour

Building and maintaining relation with
government officials to influence legislation
and regulation is a part of

(a) Direct marketing
(b) Indirect marketing
(c) Loyalty schemes

(d) Public relation
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Negotiations are an important aspect of the
collective-bargaining process. What do they
ensure?

(@) That conflict is contained within
manageable boundaries.

(b) That there is an agreement between all
parties involved.

(c) That conflict is always resolved.

(d) It achieves a set of lasting agreements.

In the context of industry analysis, which
matrix allows strategists to summarize and
evaluate economic, social, cultural,
demographic, environmental, political,
government, legal, technical and competitive
information?

(a) EFE matrix
(b) CPM matrix
(c) BCG matrix
(d) IFE matrix

Risk-free security has a beta which is equal to
, Whereas the market portfolio's
betais equal to

(@) one;morethanone
(b) one; less than one
(c) zero; one

(d) zero; zero

Holistic marketing does not include
(@) Internal Marketing

(b) Integrated Marketing

(c) Performance Marketing

(d) Financial Marketing

Which method is least suited for forecasting
the demand of a new product?

(@) Survey of Buyers' Intentions
(b) Composite Opinions of Sales Force
(c) Test Marketing

(d) Time-Series Analysis
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Under which situation, the method of
‘experimentation, modelling and sensitivity
analysis' is used to determine the information
requirements of the management?

(a) Total Uncertainty
(b) High Risk
(c) Low Risk
(d) Certainty

The strategies of a global firm are affected
by the following factors :

i. Different countries have different labour
mixes.

ii. The legal, economic, social and cultural
environment varies from one country to
another.

iii. Different countries have different time
lines and geographical boundaries.

iv. Political relationship between the home
country and the host country.

Indicate the correct combination,

Codes :

(@) i, ii and iii
(b) i, iii and iv
(c) i, iiand iv
(d) iandiionly

Who said — "An entrepreneur always searches
for change, responds to it and exploit it as an
opportunity."?

(@) James Burna

(b) McClelland

(c) Peter F. Drucker
(d) Robert C. Ronstadt
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33.

The entrepreneurial process consists of the  30.

following steps:
i. Management of the resulting enterprise.
i. Determination of the required resources.

iii. dentification and evaluation of the
opportunity.

iv. Development of the business plan.
Indicate the correct sequence.

Codes:

(@) idiiiviii

(b) iviiiiii

(c) diiiviii

(d) iviiiiii

Indo-American Model of Corporate

Governance setstop most priority to 31.

(@) Businessgrowth
(b) Customers

(c) Employees

(d) Shareholders

Quick ratio is 1.8:1, current ratio is 2.7:1 and

current liabilities are 60,000. Determine the 32.

value of stock.
(a) 54000
(b) 55000
(c) 55500
(d) 54500

Corporate leaders in India in private sectorare  33.

tempted by a very high target of and
the concerned employee has to achieve the
target for promotion and stability.

(@) Money making

(b) Business growth

(c) Product development
(d) Profit
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Corporate business ethics is norms
and pattern that spring from organizational
view of good and bad, right and wrong.

(a) Social

(b) Behavioural
(c) Institutional
(d) Individual

Trade Union strike supporting a political cause
and affecting production activities is a
problem related to

(@) Socio-economic phenomenon
(b) Ethical and technical phenomenon
(c) Ethicaland economic phenomenon

(d) Socio-political phenomenon

In case the price (P), quantity (Q), and changes
(D) are represented by respective symbols
given in the brackets, the price elasticity of
demand (Ed) is measured by

(a) Ed=DQ/DP
(b) Ed=(DQ/Q)/(DP/P)
() Ed=DP/DQ
(d) Ed = (DP/P)/(DQ/Q)

If 100% scale efficient plant has 92% technical
efficiency and 88.5% allocative efficiency, then
overall efficiency will be

(a) 88.50
(b) 90.25
() 93.15
(d) 81.42

Suppose the demand and total cost functions
foramonopoly firm are as follows

Q=100-0.2P

P =5005Q

TC =50+ 20Q + Qsquare

What will be the profit maximization output?
(@ 20

(b)y 10

(c) 50

(d) 40
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Recognition, positive reinforcement and
employee empowerment can be used to
avoid

(@) Turnover
(b) Conflict
(c) Accident

(d) Frustration

aims to reduce reliance on arbitrary
methods of pay determination by introducing
an element of objectivity in the way jobs are
compared.

(a) Performance appraisal
(b) Job evaluation

(c) Job enrichment

(d) Attrition

The process of reorganising a company's
employees to improve their efficiency is
termed as

(@) Right sizing

(b) Down sizing
(c) Retrenchment
(d) Lay-offs

The capital budgeting appraisal criterion that
is most appropriate in the situation of capital
rationing will be

(a) Payback period

(b) Internal Rate of Return
(c) Net present value

(d) Profitability index

In the model of consumer adoption of new
products developed by Everitt M. Rogers, the
first category of people to adopt a new
productis called as

(a) Early adopters
(b) Initial adopters
(c) First users

(d) Innovators
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When law fails

(@) Ethics also fail

(b) Ethics can succeed

(c) The government protects

(d) Law never fails

During his days at Midvale Steel Company
FW. Taylor saw that employees soldiering -
deliberately working at a pace slower than
their capabilities. He identified that, worker
indulge in soldiering primarily for the
following reasons:

(a) Fear of losing jobs if they increase their
output.

(b) Faulty wage systems.
(c) Out-dated methods of working
(d) Allofthe above

Which of the following options is not correct?
(@) NNPwmp= GNPwmprx Depreciation

(b) NNPwmp= NNPrc+ Netindirect taxes

(c) GDPwmp=GNPwmp + NFIA

(d) NDPrc = GDPrc - Depreciation

Intra-firm transfer of technology is found
when

(@) The price of technology development is
very low.

(b) It is difficult to protect the technology
through patents.

() The price of technology is very high.

(d) The technology is developed in
association with an allied firm.
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A study conducted by the Entrepreneurship  48.

Development Institute of India, Ahmedabad,
revealed that the possession of competencies
is necessary for superior performance of the
entrepreneurs. The study was conducted
under the guidance of

(@) JamesT.McCrory
(b) David C. McClelland
(c) JamesJ.Berna

(d) PL.Tandon

means identifying and imitating the 49,

best in the world at specific tasks.
(@) Qualitycircle

(b) Bench marking

(c) Strategy

(d) Outsourcing

Clause 49 of SEBI Regulations was amended 50

on
(@) 15 August, 2000
(b) 26 August, 2003
(c) 26 January, 2007
(d) 14 February, 2008

3EHCIEIE & SCU-IRIRIY SaqUHce
3T Y I UdT Il § b Ip Y U=
& forg Il ! ear 9v/a g
AP ¢ | I8 T fbdp UyUSR
o Tanferd fosar mam a1 2

(a) ST BRI

b) Sfae . Afcecs

() 9. g4

(d) Uiud. cusd

AT forT TU S & B T gl o
ﬂaﬁﬂﬁ g dld Al dUT D]
THRU HRAT T TN Hed @ ?

(a) TIUTa<I gd

(b) s AIHT

ot fafaHl & 3rfwdc 49 Bl be
TNferd fopam T T 2

(@) 15 3T, 2000

(b) 26 37T, 2003

(©) 26 a3, 2007

(d) 14 BRaxl, 2008

Research Methodology

Researcher not associated with instructional 51.

communication research said by
(@) Ann Staton-Spicer

(b) Donald Wulf

(c) Jennifer H. Waldeck

(d) Natalie Leonard

The number X in the following series: 3, 8, 52.

18, 38, X,.........
(@) 78
(b) 80
() 76
(d) 74

53.

If 'SOLUTION' is 'R5KTSH5M' then 'CROME'
will be written as

(a) BQS5HL

(b) B5QLH

(c) BQS5LD

(d) BS5LH

11

YT S SFIGRTES TN QY § ddy
T8 3| fpapT - 8
(a) TH LeA-WEWR
0 ST
() SIHHR T dicsdh

(d) Ace foaHArs
fafaRad sSITPA A X8 T 3, 8, 18, 38, X,

(@) 78
(b) 80
() 76
(d) 74

Tfd 'SOLUTION’ & fold ‘R5KTSH5M' &
dl ‘cROME’ &1 fRgfeifad & &u & ferar
ST

(a) BQSHL

(b) B5QLH

(©) BQ5LD

(d) BS5LH



54.

55.

56.

57.

58.

59.

The term one gigabyte refers to: 54.

(@) 1024 petabytes
(b) 1024 megabytes
(c) 1024 kilobytes
(d) 1024 bytes

Which of the following is not matched? 55.

(a) IBRD 1945
(b) IFC 1948

(c) IDA1960
(d) MIGA 1988

In the context of classroom teaching, the 5g.

foundation on which a warm and nurturing
relationship with learners can be built is
called:

(a) Probing

(b) Teacher Affect
(c) Structuring
(d) Feedback

Pitch of the teacher's voice in the classroom is o7.

described as
(a) Linguistic
(b) Paralinguistic
(c) Non-linguistic

(d) Macro-linguistic

In which type of qualitative research designs, ~ 98.

individual stories to describe the lives of
people are explored?

(a) Ethnography
(b) Grounded theory research
(c) Symbolicinteraction

(d) Narrative research

Which of the following research is cyclic in  gg

nature?

(@) Fundamental research
(b) Appliedresearch

(c) Actionresearch

(d) Evaluative research

12

% fiTeTse ug fhad el 82

(@) 1024 UCETSCH

(b) 1024 TTETSCH

(©) 1024 fdhdlagey
(d) 1024 §13CH

fuffad & o1 gafea T8t 7

(@) IHTSHINRSY 1945
(b) SrSuwmHT 1948
(©) 3MESIT 1960

(d) TH3MSSIY 1988

DHefhel R & e o 39 syrRyfH
& T Hed & For W RFHw el &
¥ aftd iR uRuive &y 1 o
W%

(@) SF-Usdid

(b) TRr&® D HiaTHB Al

(c) I fAmor

(d) wfagf®

FHefT H e &1 qToft o WRTITd B Hal
ST 8

(a) MIfS®

(b) TIHINS
(€ TRHNS
(d) Te=IND

fPT UHR & [0S MY 3feped
AN & Sfia T 9ol B & forw
IR BT P AT P Tl &2
(a) ToIfdfas

(b) SeTRe Rigid My

() UdidbIdHD 3id:fopar

(d) gD MY

fafaRaa O Q@ SH-31 MY I 19 Upfa
H§?
(a) Tfers Ty

(b) Hdgd MY
(¢ Torarae Ty
(

d) Jeaip-TdD MY



60.

61.

62.

63.

64.

If X1, X2, X3peeeeeeeennn. Xn is a simple random 60.

sample without replacement of size "n" from a
finite population of N units with mean M and
variance 2, the covariance of (Xi, Xj) will be :

(a) -—2°
(b) —
(@ —
d)

Who is the author of the famous book 61

"Methods in Social Research”
(a) Kerlinger

(b) Kothari

(c) Wilkinson

(d) Goode & Hatt

Arithmetic mean of 10 items is 4 and the 62.

arithmetic mean of 5 items is 10. The
combined arithmetic meaniis:

(a) 4
(b) 5
() 6
(d) 7

For the regression equations Y=0.516x + 63.

33.73 and X= 0512y + 32.52 the means of X
andY are nearly

(a) 67.6and68.6
(b) 68.6and68.6
(c) 67.6and58.6
(d) 68.6and58.6

Instructional communication in the distance  g4.

education mode s
(a) Unstructured

(b) Self-regulatory
(¢) Informal

(d) Structured and interactive

13

TFE X1, Xo, Xspevorrnnnnnnn X, HIeT p 3R
TRl o° o 1Y N SHIT] B Th Tid
SHERAT ¥ 3HR "n" & UIaRITOT &
&1 T TR Ay TR, @ (X,
Xj) T FEUERUT GITI:

—g 2

(@) =

el 10 3MMcH HT YHIAR AT 4 § 3R
5 3MTgeH &1 THIR T 10 § dl TG
AR A BT

(@) 4

(b) 5

(c) 6

d) 7

FufaRad e e v=0.516x +
33.73 and X= 0512y + 32.52

X TG Y T HIEH BT

(a) 67.6 and 68.6
(b) 68.6 and 68.6
(c) 67.6 and 58.6
(d) 68.6 and 58.6

qRadl fem UeRAl H  SFCRIED
YT EIT

(b) SRR

(e) TR 3R M



65.

66.

67.

68.

Which of the following sequences represents
the most logical sequence in doing
research?

(a) Identifying and defining a research
problem, formulating hypothesis, testing
of a hypothesis and reporting the result

(b) Identify a research problem, defining the
population and sample, collecting data
and analysis of data

(c) Survey of research, defining the research
problem, collecting data and presenting
the outcomes

(d) Defining research variables, hypothe-
sizing, testing of research and reporting
of research outcomes

Hypothesis testing is the main concept of
which type of research?

(@) Experimental research
(b) Historical research
(c) Surveyresearch

(d) Exegeticresearch

For encouraging learning to learn', the
emphasis on which of the following would be
most approprate?

(@) Use of educational technology gadgets

(b) Organizing teaching to increase
opportunity for transfer of learning

(c) Assigning tasks to be mastered by
students

(d) Frequent teststo be conducted

The style of writing a thesis and research
article hasto be:

(a) Creativeinsofaras dictionis concerned
(b) Scientificin respect of language used

(c) Mechanical in so far as placement of
figures and tables is concerned

(d) Variable in respect of referencing

14

65.

66.

67.

68.

fafafed o9 a1 wa My-ufsar &
Jaffdie difhes pH BT <A1 82

(a) a2y gHE 1 UG HR
I gRHTE A1, URGAT-
fafor, aReeur-adteor qur
URUMHT B SHBR ST

ot Ty H ot Uga B,
T YT Ufaes &1 g
BT, U BT UG AT 3BT
oo

(c) TN DT &L, TNE-THT Pl
GRYTIT ST, U<l &1 9Ugu
U1 URUMH &1 Ugfal

MY YRG! BT TR BT,
UG UT-FAT, Y BT uieon
3R Y YROTH} 1 SHBRY ST
Fufafea A Q fPg yeR & My o
TR eI TR0 YT SaYIRUT §?
(a) TANTHS WY

(b) UfdeRe My

() Fa&ur TNy

(d) fearEs My

(b)

(d)

drg o forg Sffems” ol Ureried
g Feifd § 9 S Yol Suger BHT?

(a) FRrem Uenfiest IueHRu BT TRt

(b) 3HTETH & 3R B AW T
oq 1&g smaiforg e

(o) Taenfial grT ard 98U B3 8
32 B IioT

(d) TR wleme Smaford B

MWY-YaY 3R M fore= o1 A F gt
Bl

(a) UGl g9 H FATHBl

(b) HTST & SIHART & qADH T

(0 Ugd 3R IR & TRgfaeor
T giFddr

(d) Teufemur & e H gfvadf
Gkl




69. An important element in classroom

70.

communicationis:

(@) Physicalinfrastructure
(b) Fields of expression

(c) Conditioned feedback
(d) Linearity of Message

Which of the following is a computer based
system that stores and manipulates data
which are viewed from a geographical point or
reference?

(a) Database System

(b) Geographical Information System
(c) Geographic System

(d) Software System

71. The objective of Indian Government behind

72.

73.

setting up of HEFA (Higher Education Finance
Agency) is to provide financial support for:

(@) Improvement of infra-structure in
premier institutions of the country

(b) Research projects of faculty

(c) Research collaboration between Indian
and Foreign Universities

(d) Research collaboration between Indian
Institutions and Industry

Which of the following air pollutants are
produced from room deodorizers?

(@) Inhalable particulate matter
(b) Carbon monoxide
(c) Ozone

(d) Volatile organic compounds

Information overload in a classroom
environment by a teacher will lead to

(@) Highlevel participation
(b) Semantic precision

(c) Effectiveimpression
(d) Delayed feedback

69.

70.

71.

72.

73.

HefT- TV & U AUl dcd § -
(a) WfdP ST
(b) Sifyeafdd & &=

() s fagfe
(d) o= P HeEdr

frafafed & § oH-3 te FgeR
STTRT JOTTet! § S 37 Sfbs! Bl
TURd Bt & 3R ITH Sedrs Bl
g, forg Himiferes ePaior siyar wiefie
DD T T 1T 37

fewT (SR e faxfig aifteron &t
TYTTAT & T HRAT TRPR BT I
foxiia gemar U BT

(a) SR UIE IRl P TR
T gUR 8]

(b) BT DI MY GRASHISN B

(0 HRd 3R fag=h fayfaemaal &
CIERIPE RIS

(d) YRR TR 3R I & s

Ay g 3q

frafaRad & @ H-91 I Ugud Hef
grleRme (0 fEaEREeR) ¥ Uar
Bl &7

(@) I HUTHR uerdf

(b) PTET AAISNFES

(©) 3o

(d) arRfid B Aifie

R1e/® GRT Her | a3 &1 31t YR




74.

75.

76.

77.

78.

Which of the following sampling procedures
will be appropriate for conducting researches
with empirico-inductive research paradigm?

(@) Simplerandom sampling procedure
(b) Systematic sampling procedure
(c) Stratified sampling procedure

(d) Any of the non-probability sampling
procedures

A university teacher plans to improve the
study habits of students in his/her class. Which
type of research paradigm will be helpful in
this regard?

(a) Evaluative research paradigm
(b) Fundamental research paradigm
(c) Appliedresearch paradigm

(d) Actionresearch paradigm

Which one of the following tasks is associated
with changing appearance of a document in
word processing?

(a) Editing

(b) Formatting
(c) Writing

(d) Printing

Which among the following is not related to
qualitative research?

(@) Thematicanalysis
(b) Casestudy
(c) Discourse analysis

(d) Survey method

Standard deviation is divided by the expected
rate of return is used to calculate

(@) Coefficient of variation
(b) Coefficient of deviation.
(c) Coefficient of return

(d) Coefficient of standard
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74.

75.

76.

77.

78.

fwifed & @ - ufcef-ufcaa @i

Ufehan STHdH-STHIAS Ufad ardt

MY =0 P forg Iugad grf?

(a) I TrEfSe ufdesl-ufdea
gfdan

(b) HafRd ufaeel-ufdeam uftar

() afd ufaest ufceam ufsar

(d) Pig ¥t TR-Gureaan smetla
yfaest ufdem= ufhang

s fayfaaray e, st wen &
faenfial @t srezm snedl Hf guR @Y
AT ST 8 | 59 IaY | foog UpR &1
MY WEY HGGIR NI

(a) HAIHTHD MY =Y
(b) T Ty =Y

(c) ogagd TMY =7
d) forare® Ty =g

fFaffed saf 4 @ P9-a1 Hrf 98
IR & SlgHc & Wey § gedd 9
ST 87

(a) Hured (ufsfem

(b) TRTHIT

(0 G RIS

(d) Hgor (fem)

fafaied & I SF a1 unes MY A
eiferd T8t 82

(a) THUTHS faQroT

(b) =AY g

(c) Wifad fazeiyor

(d) defor fafd

AP fage & It ot 3Ofdd v d
o fvan smar 8 et SuaT
UM B & forg fpar ST @

(a) faaeH & g - ol
(b) fdae &1 uiies |
(©) a1l BT Ul
(d) HFD BT UIMH



79.

80.

81.

82.

By selling 70 pencils for Rs.90/- a person
makes a loss of 25%. How many pencils should
be sold forRs. 234 to have a profit of 30%?

(@ 95

(b) 100
(¢) 105
(d) 110

Which given of the following sets of letters
when sequentially placed at the gaps in the
letter series below shall complete it?

bb b _ab cbba bcbb
(a) acbac

(b) acbbb

(c) cbbba

(d) abbbc

In what ratio must a vendor mix two varieties
of sugar worth Rs. 60 per kg and Rs. 78 per kg
so that by selling the mixture at Rs. 76.8 per kg,
the vendor gains 20%?

(@) 74
(b)y 7:2
(c) 5:3
(d) 5:2

Which of the following was not a Millennium
Development Goal (MDG)?

(a) Eradicate extreme poverty and hunger
(b)

(c) Ensure healthy lives and promote well
being forall atall ages

Improve maternal health

(d)

Ensure environmental sustainability

79.

80.

81.

82.
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e fad 70 URy@l &1 90 T U4 H 54
R 25% I ISTAT 8 | 30% AT HHA
& o 234 93 H foha-t URd st
giit?

(@ 95

(b) 100

(© 105

(d) 110

frafeied & 9 efaRi &1 a8 S 91 ¢
T 1 TS sreR g & Rad RIFI R
HAMIR T Y 98 T3 81 SEit?

bb_b_ab_cbba_bcbb

(a) acbac
(b) acbbb
(c) cbbba
(d) abbbc

T faod &1 60 398 Ufd .71, 3R 78
I Ui o 71, e &1 At 1 & T

foret &1 fope sguTa & fiyamn g arfes
98 39 U &1 76.80 Y HI X I 9
PR 20% Y 3HfSId B Th?

(@ 74

(b) 7:2

(c) 5:3

(d) 5:2

fafoiad # 9 &F 91 veife fam™
6T (TT St SN el 82

(@ i e sk y@ &1
S NE

(b)y WY WY T YUR

© 9t omg ol & aafaal & fw

W ST BT AT HAT 3R

GIETell B! TGHT

qafaRuiT Ui & GG

HA

(d)



83.

84.

85.

86.

In grounded theory, researches collect data
using theoretical sampling until theoretical
saturation is achieved. This process can be
summarized in the following sequence.

(a) Sample Theoretically decided - Collect
data - Analyse data — Theoretical
Saturation

(b) General research question - Collect data
- Sample theoretically decided -
Analyse data — Theoretical Saturation

(c) Sample theoretically decided — General
research question Collect data -
Theoretical Saturation

(d) General research question Sample -
theoretically decided - Collect data -
Ananlyze data - Theoretical Saturation

Which among the following is NOT an
alternative to traditional assessments?

()
(b)
(c) Portfolios

(d) Exhibitions

Multiple Choice Questions

Performance Test

Which of the following statements fails to
indicate the intent of purposive sampling?

(@ Purposive sampling is not the
fundamental principle for selecting cases
andindividuals in qualitative research

(b) Purposive sampling places the
investigator's research questions at the

forefront of sampling considerations

(c) Theoretical saturation is a useful principle
for making decision about sample size

(d)

There is considerable disagreement
about what is an acceptable minimum
sample size in qualitative research

Montreal protocol was signed in order to
address which of the following environmental
issues?

(@) Tropospheric ozone pollution

(b) Depletion of ozone in the stratosphere
(c) Globalwarming

(d) Acidrain

83.

84.

85.

86.
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et Rigid | Muwdl Jgifds

I3 81 % Jgifad ufaemm & gan

GRT ST GUBU Hd ©, 39 Ufhar &l

fafafad w0 & gxfar 1 9ear g |

(a) Tgifas ufdest STer 4Ug STeT
farzei T — Aifered it

(b) THI MY U — STeT TGI8
Jgifae ufde et fazawor —
Agifae dqf

(0 Sgifas ufdesl — IR My
Ty STCT HUE Jaifad Hqra

(d) TR MY UY AgiTaw ufdesf
STeT YUg STeT fazayu Jgifas
g

fgferad # 9 &1 URURS i ol
o ey T8 27

(a) g fdmedla Uy

(b) PTG Teror

(c) UEwiferr

(d) VeRifat

ey UfdeRf & IR A 370 A S AT
DY TP R P YYford b A
gAY g2

() TUITHS =My H AT T
Hfaqdl & 999 g WIe=d
Tfesf U SRy Rigid 76 8
Aeza ufdes, nydmdl & gy &
yfcesl g9 & srefiad dar gl
(© ufdexl & R » IR | Aol
T & fore Sgifas dgfduRedn
T Iuant Rgid 2
UMD U T AdH
gfaesl HR &) Wierar &
IR T HTH qd0E B

Aifead wieidpa H fafafaa & 9 fea
qaTaRur Seeft TEl o JaTy™ o fore
TER fohd T A7

(a) QU IS TgyuT

(b) WRWHIR H 3NN T e
(c) Tld arfHT

(d) TRIS A (3T au)

(b)

(d)



87.

88.

89. Which one of the following computer gg

90.

91.

A research scholar while finally reporting the ~ 87.

research result in the form of a thesis
acknowledges the support of his/her
supervisor in the preface. This will be treated
asa:

(@) Sheerformality
(b) Needed formality
() Superfluous act
(d) Part of ethicality

Which among the following is the statutory ~ 88.

function of the UGC?
(@) Toappointteaching faculty in universities

(b) To control the conduct of examination in
universities

(c) Todetermine and maintain the standards
of teaching and research in universities

(d) To develop curriculum for university
courses

components is fastest in terms of speed of
access?

(@) USB Drive

(b) Solid State Drive
() RAM

(d) Hard Disk Drive

The constitution of India provides right to  90.

establish educational institutions of their
choice by all minorities as per

(a) Article30(1)
(b) Article29
(c) Article33
(d) Article16(2)

'‘Gyanvani' launched by IGNOU to cover the 91.

educational needs of India refers to

(a) Satellite based educational T.V. channel
(b) Educational F.M. Radio network

(c) Globalinitiative of academic networks
(d) MOOCs
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TS Tyl MY UROMH B MY Uiy &
w0 ¥ 3ff<H U yfaafed sxd amg
TIE | 3 Tdefd &1 Tgrdl B
BRI B | T &1 HHT ST 87

fraferfaa & 3 gomdt & ifafie s
T ]?
(@) Tasyfaeneal & e dorg &t

fgfad s

(b) fayfaemeral & udter s &1
A

() foyfereat & fRremor ok Wy &
TR BT YR BT 3R 3T
AT G

(d) Tayfaeea ureasmH & forg
ureTd &1 fAAfor &

fAafeifed Hrger Hucs! 0 9 HH-41
Ugd &1 I B 2P ° HaY §d 87

b) IS Wc 2
0 WH(ERUW)

HRA BT JfFUE T 3cuReTsd! R
3T gie @ Reifdrs T wiifia
B & AIPR BT IUGY BT B
(a) 31T 30(1)

(b) 3FT=5G 29

(€ oG 33

(d) 3rT=e 16(2)

Y GRT R B! e Sl b =g

& DI T3 Tl § R HA

(a) SUIE MY e .
EEK|

(b) eifrw Th.uH. ST Aeadk

(C) 3MBIEP Acdd! Bl dYPb Ugd

(d) HHN



92.

93.

94.

95.

96.

In which of the following Ancient Indian
universities, the culture and civilization of
Tibet was built mainly through the writings of
thescholars?

(a) Nalanda
(b) Vikramsila
(c) Jagaddala
(d) Mithila

In a human population, which is undergoing
the demographic transition, which of the
following generally decreases first?

(@)
(b)
(c) Deathrate
(d) Birthrate

Life expectancy

Level of education

National Curriculum Framework was
developed by which of the following?

(@) UGC
(b) NCERT
(¢) NCTE
(d) CBSE

Generally who is the visitor of central
universities of India?

(@ Prime Minister of India
(b) Minister, MHRD

(c) PresidentofIndia

(d) UGC Chairman

Changes in population characteristics such as
age, gender, race, marital status, income and
education are examples of change:

(@) Demographic
(b) Cultural

(c) Geographic
(d) Diversity

92.

93.

94.

95.

96.
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fafafed & 3 fod U= YRda
fayfaeea & gora: fagHl & o &
ey 9 fassd &1 9P fa SR Juar &1
fmTor garm um?

(a) ATear

(b) fasmHRren

(ORRCUEN]]

(d) Tofe

81 %81 8, grue: Fafafed & § fead
e Ugd, BT Bl 67

(a) Sia Jmem
(b) fRrem

(@ HY R
d) SR

RIS UTGEE| hHdeh 1 AT fbe
foar ur?

(@) g

(b) TIHZSMA.

() AT,

d) Shwas

IR TR HRA & H1a fayfaemerdl &1

faforer B 82

() HRA BT YUHHAT

(b) HHd g8 faerg §5t

(c) HRd BT IAFUfd

(d) Tayf=mer S SMaNT &1
3ree

SIHIRSAT o &fOT a7 3y, =%t i
3 3R e ¥ yRada darfes fufa
fog uftad & IR B2

(a) SHIRA®T

(b) Fipfdd
() Hrfae
d) dfae




97.

98.

99.

100.

If two dice are thrown, the probability that the
sum of their points s greaterthan 10is

@ 1/9
(b) 1/12
(© 1/3
(d) 1/18

Which type of sampling is appropriate when
the population consists of well defined groups
such that the elements within each group are
homogeneous and between each group they
are heterogeneous?

(@) Cluster Sampling

(b) Simple Random Sampling
(©)
(d) JudgementSampling

Stratified Sampling

The power of test is equal to
@ «a

(b) B

(© 1-B

(d) 1-a

If in a formula, the mean absolute deviation is
the numerator and the arithmetic mean is the
denominator then the resultant value is
classified as

(a) Coefficient of absolute deviation
(b) Coefficient absolute quartile deviation
(0)

(d) Coefficient of mean absolute deviation

Coefficient of quartile range deviation
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97.

98.

99.

100.

gfe &l Uikl & bl OTE ol 3 3Hhi
B HA SIS Y TST 8 B! YHEGT§ 10

1/9
/12
1/3
1/18

a
b
c
d

—_

(@)
(b)
(c)
(d)

T ST fores quiaar aRuiia T,
g ? e Rd® THg H Ieidiiga
& o firerd g 3fR 3% UdS g |
fqw Sicdiaar & @& ue g & fog,

T BT DI T UHR IuGad 97 ?
(a) T JmfeiT

(b) AT TTEfRSH AT

(c) TIGpd JHfeiT

(d) faae Jmfei

TYefur ot Wfad & SRR §
(@) @

(b) B

© 1-8

d) 1-a

afe; forel g & A RO e Siwr
3R 3B A1ed &% & < uRomdt 7
& 39 YBR ¥l fbar S g

(8) FROg farerer 1 uric

(b) Turiep fARUe Iges faeer
() Tgder Juit faere 1 Turied
(d) wren FROe famrer o1 Jurich
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